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#### Biost 517: Applied Biostatistics I

#### Emerson, Fall 2012
#### Annotated Stata Log File: Homework #1
#### October 27, 2012
#### In this file I give the Stata commands I used to produce
#### the key to Homework #2. In order to properly format

#### a table useful to casual readers, I cut and pasted some

#### of the output into Excel.

#### Comments edited into the log file produced by Stata are

#### on the lines that start with the four ‘#’ signs and are

#### printed in italics.
#### The Stata commands are put in bold face.
#### Stata output is displayed in regular typeface in blue.
#### Start a log file to record commands and output
. log using hw1Stata.log  

      name:  <unnamed>

       log:  z:documents\teach\courses\b517\f12\hw1Stata.log

  log type:  text

 opened on:  27 Oct 2012, 06:56:23 
#### Read in data: The infile command was typed all on one line; “quietly” avoided

#### Stata printing output about missing data

. cd z:documents\teach\datasets

Z:\documents\teach\datasets

. quietly: infile idno age male nonwhite educ weight height packyrs yrsquit gmalcoh ldl gluc alb crt fib wbc 
> plt sbp dbp aai fvc fev dsst mmmse daysfu death using dsst.txt
#### Verify that first case is all missing data (from the column headings)

. list in 1
   _____________________________________________________________________________________________________________
1. |   idno |    age | male | nonwhite | educ | weight | height | packyrs | yrsquit | gmalcoh |   ldl |   gluc | 
   |      . |      . |    . |        . |    . |      . |      . |       . |       . |       . |     . |      . | 
   |    alb |    crt |  fib |      wbc |  plt |    sbp |   dbp  |     aai |     fvc |     fev |  dsst |  mmmse |   
   |      . |      . |    . |        . |    . |     .  |      . |       . |       . |       . |    .  |      . |      

   | daysfu |  death |   
   |      . |      . |

#### Dropping the first case

. drop in 1

(1 observation deleted)

#### I describe the data set just to make sure there are the right number of variables

#### and cases.

. describe

Contains data

  obs:         3,660                          

 vars:            26                          

 size:       395,280 (96.2% of memory free)

              storage  display     value

variable name   type   format      label      variable label

idno            float  %9.0g                  

age             float  %9.0g                  

male            float  %9.0g                  

nonwhite        float  %9.0g                  

educ            float  %9.0g                  

weight          float  %9.0g                  

height          float  %9.0g                  

packyrs         float  %9.0g                  

yrsquit         float  %9.0g                  

gmalcoh         float  %9.0g                  

ldl             float  %9.0g                  

gluc            float  %9.0g                  

alb             float  %9.0g                  

crt             float  %9.0g                  

fib             float  %9.0g                  

wbc             float  %9.0g                  

plt             float  %9.0g                  

sbp             float  %9.0g                  

dbp             float  %9.0g                  

aai             float  %9.0g                  

fvc             float  %9.0g                  

fev             float  %9.0g                  

dsst            float  %9.0g                  

mmmse           float  %9.0g                  

daysfu          float  %9.0g                  

death           float  %9.0g                  

Sorted by:  

     Note:  dataset has changed since last saved     Note:  dataset has changed since last saved

#### Eventually I will want descriptive statistics on time to death, however as noted on the homework and
#### in the documentation, the variable daysfu is a mixture of times to death and time of follow-up on 

#### subjects who were still alive at the time of data abstraction.

####

#### As suggested on the homework, I choose to describe the deaths only up to the earliest time of an

#### observation being “censored” (i.e., a subject still being alive at the time of last follow-up)

#### 

#### I first determine the shortest time of follow-up for subjects who were still alive

. tabstat daysfu, stat(n mean sd min q max) col(stat) by(death). replace msng6= 1 if spd6==.

Summary for variables: daysfu

     by categories of: death 

   death |         N      mean        sd       min       p25       p50       p75       max

       0 |      3155  1644.916  211.0218      1201      1506      1632      1794      2411

       1 |       505  972.4238   480.098        11       564       978      1374      2035

   Total |      3660  1552.127  352.0484        11      1440    1604.5      1773      2411

#### The above highlights the difficulty interpreting the daysfu and death variables:

#### -- The subjects who died had death times between 11 and 2035 days after being accrued to the study

#### -- The subjects who were still alive may have only been followed for as few as 1201 days

####

#### Hence it is difficult to compare the data for some individuals: A subject who was still alive

#### at 1201 days may have been “destined” to die earlier than someone who was observed to die at 2035

#### days. We would therefore not want to regard that the person still alive at 1201 days was necessarily

#### better off than the subjects who died later.

####

#### One approach to get around this was suggested in the homework: Only describe the death experience

#### up to the time that the first person was missing precise data. In this case, that would be

#### at 1201 days post study accrual.

####

#### I thus create two new variables that will not be missing data for any subject:

#### -- dead1201 will indicate those subjects who died within 1201 days of study accrual

#### -- daysfu1201 will record for each subject the number of days alive during the first 1201 days of follow-up

. g dead1201 = death
. replace dead1201 = 0 if daysfu > 1201
(178 real changes made)

. g daysfu1201 = daysfu

. replace daysfu1201 = 1201 if daysfu > 1201

(3332 real changes made)

#### Eventually I will also want descriptive statistics within groups defined by whether they are missing DSST.
#### I generate a variable msng that indicates DSST measurements are missing.

. g msng = 0
. replace msng = 1 if dsst==.

(118 real changes made)

#### Now I get descriptive statistics for all relevant variables by sex. It was easier just to go ahead and
#### ask for the descriptive statistics for male, even though it is silly to do so within sex groups. I will
#### sort that out when I format the tables.

. tabstat age male weight height dsst daysfu1201 dead1201, stat(n mean sd min q max) col(stat) long by(male)

male         variable |         N      mean        sd       min       p25       p50       p75       max

0                 age |      2133  74.83826  5.096038        65        71        74        78        97

                 male |      2133         0         0         0         0         0         0         0

               weight |      2132  148.7662  30.00164        72     128.2     145.8       166       320

               height |      2132  158.6814    6.3043     123.8     154.7     158.7     162.8     186.5

                 dsst |      2065  40.55545  13.67334         0        31        40        50        87

           daysfu1201 |      2133  1166.954  150.8689        66      1201      1201      1201      1201

             dead1201 |      2133  .0632911   .243543         0         0         0         0         1

1                 age |      1527  75.52325  5.394826        65        71        74        79        97

                 male |      1527         1         0         1         1         1         1         1

               weight |      1527  173.8065  27.05421       109     155.8       172     189.8     299.7

               height |      1527  172.6817  6.560325     152.5     168.2     172.7       177       193

                 dsst |      1477  37.70007  13.31457         0        29        38        47        84

           daysfu1201 |      1527  1137.679  201.6087        11      1201      1201      1201      1201

             dead1201 |      1527  .1257367   .331661         0         0         0         0         1

Total             age |      3660  75.12404  5.232963        65        71        74        78        97

                 male |      3660  .4172131  .4931661         0         0         0         1         1

               weight |      3659  159.2162   31.3402        72       137     157.8       178       320

               height |      3659  164.5241  9.422464     123.8     157.5     163.8     171.7       193

                 dsst |      3542  39.36477  13.59611         0        30        40        49        87

           daysfu1201 |      3660   1154.74  174.4205        11      1201      1201      1201      1201

             dead1201 |      3660  .0893443   .285279         0         0         0         0         1

#### Now I get descriptive statistics for all relevant variables by the value of msng. 

. tabstat age male weight height daysfu1201 dead1201, stat(n mean sd min q max) col(stat) long by(msng)

msng         variable |         N      mean        sd       min       p25       p50       p75       max

0                 age |      3542  74.96358  5.106776        65        71        74        78        97

                 male |      3542   .416996  .4931318         0         0         0         1         1

               weight |      3541  159.5006   31.2962        72     137.2       158     178.2       320

               height |      3541  164.5742  9.426591     123.8     157.7     163.8     171.7       193

           daysfu1201 |      3542  1159.102  165.5491        11      1201      1201      1201      1201

             dead1201 |      3542  .0824393  .2750717         0         0         0         0         1

1                 age |       118  79.94068  6.551952        68        74      79.5        85        97

                 male |       118  .4237288  .4962557         0         0         0         1         1

               weight |       118  150.6822   31.5927      86.2     128.2     147.5     166.2     284.2

               height |       118   163.022  9.210651     141.8       157    161.45     170.2       190

           daysfu1201 |       118  1023.788  322.6301        54      1017      1201      1201      1201

             dead1201 |       118  .2966102   .458711         0         0         0         1         1

Total             age |      3660  75.12404  5.232963        65        71        74        78        97

                 male |      3660  .4172131  .4931661         0         0         0         1         1

               weight |      3659  159.2162   31.3402        72       137     157.8       178       320

               height |      3659  164.5241  9.422464     123.8     157.5     163.8     171.7       193

           daysfu1201 |      3660   1154.74  174.4205        11      1201      1201      1201      1201

             dead1201 |      3660  .0893443   .285279         0         0         0         0         1

#### Looking at that data, we see that subjects missing data for DSST tend to be older and tend to have lived fewer
#### days during the first 1201 days post accrual (equivalently, a much higher proportion die during the first 1201

#### days) when compared to those who are not missing data for DSST.

####

#### I wondered whether those missing data for DSST might predominantly be people who refused to do the test because

#### they could not do the task. 

####

#### To explore this, I create a variable that indicates those people who scored less than 10 on the DSST. (Ten was

#### chosen arbitrarily.)

####

#### I use the Stata recode function to create the dichotomization. In this code, I give two different ways to define

#### the case when DSST==10. I get descriptive statistics to make sure that the first definition is in fact the one

#### that is used

. g dsstLT10 = dsst

(118 missing values generated)

. recode dsstLT10 10/max=0 min/10=1

(dsstLT10: 3539 changes made)

. tabstat dsst, stat(n mean sd min q max) col(stat) by(dsstLT10)

Summary for variables: dsst

     by categories of: dsstLT10 

dsstLT10 |         N      mean        sd       min       p25       p50       p75       max

       0 |      3479  39.99454  12.87317        10        31        40        49        87

       1 |        63  4.587302  3.170606         0         2         5         7         9

   Total |      3542  39.36477  13.59611         0        30        40        49        87

#### Now I generate descriptive statistics according to DSST>= 10, DSST==10, or missing DSST by using the “missing”

#### option for tabstat
. tabstat age male weight height dsst daysfu1201 dead1201, stat(n mean sd min q max) col(stat) long 
> by(dsstLT10) missing

dsstLT10     variable |         N      mean        sd       min       p25       p50       p75       max

0                 age |      3479  74.87669  5.033416        65        71        74        78        97

                 male |      3479  .4153492   .492853         0         0         0         1         1

               weight |      3478  159.5255   31.2615        72     137.2       158     178.2       320

               height |      3478  164.5647  9.431525     123.8     157.7     163.8     171.7       193

                 dsst |      3479  39.99454  12.87317        10        31        40        49        87

           daysfu1201 |      3479  1159.923  164.4756        11      1201      1201      1201      1201

             dead1201 |      3479  .0793331  .2702969         0         0         0         0         1

1                 age |        63   79.7619  6.664093        66        75        80        85        97

                 male |        63  .5079365  .5039526         0         0         1         1         1

               weight |        63  158.1222  33.39193      97.3     130.2     162.2     184.2     255.2

               height |        63  165.0952  9.208436     147.5     157.7     163.8     172.2     183.7

                 dsst |        63  4.587302  3.170606         0         2         5         7         9

           daysfu1201 |        63  1113.794  213.5392       340      1201      1201      1201      1201

             dead1201 |        63  .2539683  .4387759         0         0         0         1         1

.                 age |       118  79.94068  6.551952        68        74      79.5        85        97

                 male |       118  .4237288  .4962557         0         0         0         1         1

               weight |       118  150.6822   31.5927      86.2     128.2     147.5     166.2     284.2

               height |       118   163.022  9.210651     141.8       157    161.45     170.2       190

                 dsst |         0         .         .         .         .         .         .         .

           daysfu1201 |       118  1023.788  322.6301        54      1017      1201      1201      1201

             dead1201 |       118  .2966102   .458711         0         0         0         1         1

Total             age |      3660  75.12404  5.232963        65        71        74        78        97

                 male |      3660  .4172131  .4931661         0         0         0         1         1

               weight |      3659  159.2162   31.3402        72       137     157.8       178       320

               height |      3659  164.5241  9.422464     123.8     157.5     163.8     171.7       193

                 dsst |      3542  39.36477  13.59611         0        30        40        49        87

           daysfu1201 |      3660   1154.74  174.4205        11      1201      1201      1201      1201

             dead1201 |      3660  .0893443   .285279         0         0         0         0         1

. log close

      name:  <unnamed>

       log:  z:documents\teach\courses\b517\f12\hw1Stata.log

  log type:  text

 closed on:  27 Oct 2012, 07:12:40

